P 2021 [oLQJ syl Ol Olylys

(59€3

(VI-r.r.-1re) psy jlysll Jnall aiol

(TA-T - 1A-V) p8) sgcall REREIY doudll auys Glejliog Glallbo 6 Jnell SJolll 651aJ1

020 qb.ob.ouocm |

:auileoll
045 ) 18 lajliiclg (sgcall wibub

:palall

83530y cubl lgale Geaall Lle ells gdymig Jupunill o LI aolie Gl lgale Leaall Jlis clally Leanll albo
0 Lo sl Sl ol 5 eanll oy al 1] il e aolbill ool wi> -sgeall ap lgad by
I5]g .lgso Jnall slgo cwils gl sgeall o Jnall lgile (iog Byilall alisi jaey padiy alg kil 3330l acgall
Al bl 3l go logy (guiIls) a0 casail 1516 wsgeall dyilall cubuiiio lgio Jnall sligo sgeall p4i ol
1047 p) o8 secall 226 wspl dumls i Lo lgas il 83lc a9y 1oy pl o lgibub 22 Lgad puwll Leaoll culby
aulall ge dpeanll cusi ol éyflall cu -"ejiy eylillg ey G5 1] Geaall” ol Gle gais arepiidl saclall ol Cyog
socall ubub :ell3 (5380 -ainlll alusi jac pasi plg lgelus Cigwi go pr«T+/+1/11 3yl 2001 628210l duwlall
alallaall o Joall gla) Joc aclgd go (£7) aloll (ogay slaill cilag Lilgi Jhall jlicl -545 @ ol la)liclg

gl Olejliolg

0] 95J.0J| 101l 8paloll awnll Olecjliallg Olallball oo Jdoall gbl) Joc aclgd go(er)g (r+) guislall -
oIEe1/ &/T1 pylig (r1.€.)

.

12219 1alwg aang all Lleg «alll Jow) Lle plludlg 6Unllg ,all 20l
0 @slill dogdll s Olcjliog lallbo 6 Jpall Jolll 8451l Camaisl peT-/-1/17 ayliy 201l pgy 6

al4uiwollg . 1€r0/1/10 )Ly (1/p0) po) ol pguupall ol J5a)l ays plBs wiogoy sLuioll 1620 abobuwo

BDIEFI/IT/TE 29l (106VE) p8) Saloll poll Cingoy



ailodl o) Cj.cagi 266 ,6))60ll duolbbill glbg_ill sacall Gsgiwl Cuog .ollcl Lgu] jLinoll (sgeall oo il ¢lag
LT IN 1/TT 3yl (TA-T+1A-V) pdp aupnll gl dolell

Jauw Obagll 38l ... p2bo duwwdo cllo igny (....) ad) dsibg &1ga .... ol Lo acall 03 gilsg ynalis
81530y bl lgale Leaall Lle lgiyeig il Lo Bl ol e adlyicl gand @il pds .....) ad) )l
.sacall ap lgio (lhig uinén 3o digho »1EFA/.1/1F dyli 3

Olalbo Lo Joall Gl 8)ila)l &y caoiisl fhwo dioll dclull ploi ;6 pr-T-/+1/T7 2yl 2211 pgy o9
ac Woo lgiany .......... o sgeall Wbl Gle 8laliallg 82 dbsbo Lo asltall aagdll ays Glcjliog
-aulall acgoy lgelii Bigii go pel Gle dxcanll Jioy oo 1oy plg lgale caoll

.

aidjllg aillyaeig 1€r0/1/10 ayly (1/p) pdy G3lall pgupell ploll JoaJl ays plbi Sle clibll a9y
aclgs Sle clbll aig (lgillhaeig o1&r0/1/11 Aylg (10r0) ps) allall pjg jli6 wogoy 8)aloll @duaiill
asllell Oil3 ailglllg dabrilllg i 1e€1/€/T1 aylig (T1-£-) pb) GAlall ol 8)alall duyall gLl Joc Oilclp)
aclull ploi o pF-T+/+1/T1 ayliy 2201 pgy 8aéeiall awlall joro oe Jarcaall Jiay oo wlbé cuf ail o
Olejliollg lallaall Lo Joall gla) Jac aclgs go (ggpirell) 83kl go (1) 818a)l cani Cusg .2lwo éiolill
20l g0 logy (3wi1l) 820 Curasil 1316 wseeall 8yflall Libiiis lgis Joall sligo soeall i @) 1] ™ duyell
secall 326 sl @l i 6 Lgio pull éale] 29y yraay o) of lgibuis a2) lgao il eaoll bbby plg Cibuill
Badi o) Cuo "2 2y 185 g @ols] . sgcall glow 83300l 8aally JUS| 9> Leaall joug 045 al olb
wlo oo asoyoll sgaylg Wlaiimall e duinollg apasill dplall ablul cgpo lgo Joall sgeall apib
093y &ulall ge dxcanll apd s $dllg pr-T+/+1/17 3yliy 2511 pgy aéeioll duwlall 33U gl5 Lalg «sgcall

1ol lo gloallly ayflall cups Lol dlglanll a2ig wluwill 0aglg
055 ) ols lojliclg sgeall wibuly -

wie0sl aang al Lleg 2000 liyi Ll plwg alll Llog



